

HYPERBOLIC EQUATION FOR FOURTH ORDER WITH MULTIPLE CHARACTERISTICS

LAZHAR BOUGOFFA

ABSTRACT. In this paper, a class of initial value problem of hyperbolic equations for fourth order with multiple characteristics is considered and can be solved analytically by variable transforms. Also, similar to Goursat's problem we present a direct integration technique for finding a new solutions of an inhomogeneous hyperbolic equation of fourth order such that the attached conditions are given on its multiple characteristics.

AMS Mathematics Subject Classification : 35L25, 35L30.

Key words and phrases : Hyperbolic equation for fourth order, multiple characteristics, Goursat's problem.

1. Introduction

Partial differential equations of higher order are encountered when studying mathematical models for certain natural and physical processes. The Cauchy problem for general linear hyperbolic differential equations has been studied much more thoroughly in the case of operators which are strictly hyperbolic, i.e., have simple real characteristic than in the case of operators with multiple characteristics. A. Lax [1] has studied hyperbolic equations with multiple characteristics involving one space variable.

In [6] a class of equations with fourth order partial differential equations with multiple characteristics and dominated low terms is considered. The existence and uniqueness of a Riemann function for this equation is proved. Also, in [5] Adomian decomposition method is applied to the solvability of nonlinear hyperbolic equations of higher order with initial conditions. In particular, the hyperbolic equation of fourth order is chosen as example to illustrate this method.

The reader is referred to [1], [2], [3], [6], [7], [8], [9], [10] for further studies. As an example of such type of equations, is the linear hyperbolic equation of

fourth order with multiple characteristics $x - t = 0$ and $x + t = 0$,

$$\left(\frac{\partial^2}{\partial t^2} - \frac{\partial^2}{\partial x^2} \right)^2 u = 0.$$

This paper is concerned with a direct integration technique for solving this type of equations with initial conditions. Also, similar to Goursat's problem an inhomogeneous hyperbolic equation of fourth order with multiple real characteristics is considered and can be solved analytically.

2. The Cauchy problem for hyperbolic equation of fourth order in \mathfrak{R}

Consider the following hyperbolic equation of fourth order with multiple real characteristics

$$\left(\frac{\partial^2}{\partial t^2} - \frac{\partial^2}{\partial x^2} \right)^2 u = 0, \quad (1)$$

for $x \in \mathfrak{R}$ and $t \geq 0$ with initial conditions

$$\frac{\partial^i u}{\partial t^i}(0, x) = \varphi_i(x), \quad i = 0, \dots, 3. \quad (2)$$

Our purpose is to look for the general solution of problem (1)-(2). The basic key of this method is to transform PDEs into integrable PDEs by introducing new variables $w = x + t$ and $z = x - t$. We shall prove

Theorem 1. *The solution of problem (1)-(2) can be expressed in the form*

$$u(t, x) = (x + t)\Phi_1(x - t) + (x - t)\Psi_1(x + t) + \Phi_2(x - t) + \Psi_2(x + t),$$

where the function Φ_i and Ψ_i , $i = 1, 2$ are given by

$$\begin{cases} \Phi_1(x) &= \frac{1}{8} (\varphi_0'(x) - \varphi_1(x) - \int_0^x \varphi_2(x) dx + \int_0^x \int_0^x \varphi_3(x) dx dx), \\ \Psi_1(x) &= \frac{1}{8} (\varphi_0'(x) + \varphi_1(x) - \int_0^x \varphi_2(x) dx - \int_0^x \int_0^x \varphi_3(x) dx dx), \\ \Phi_2(x) &= \frac{1}{2} \varphi_0(x) - \frac{1}{2} \int_0^x \varphi_1(x) dx - \int_0^x (\Psi_1(x) + x\Phi_1'(x)) dx + \gamma_1, \\ \Psi_2(x) &= \frac{1}{2} \varphi_0(x) + \frac{1}{2} \int_0^x \varphi_1(x) dx - \int_0^x (\Phi_1(x) + x\Psi_1'(x)) dx + \gamma_2, \end{cases}$$

where γ_i , $i = 1, 2$ are constants and $\gamma_1 + \gamma_2 = 0$.

Proof. To find the general solution of problem (1)-(2), make the substitutions $w = x + t$ and $z = x - t$ into equation (1), and applying the chain rule to obtain

$$\frac{\partial u}{\partial x} = \frac{\partial u}{\partial w} + \frac{\partial u}{\partial z}, \quad \frac{\partial u}{\partial t} = \frac{\partial u}{\partial w} - \frac{\partial u}{\partial z},$$

$$\frac{\partial^2 u}{\partial x^2} = \frac{\partial^2 u}{\partial w^2} + 2 \frac{\partial^2 u}{\partial w \partial z} + \frac{\partial^2 u}{\partial z^2}, \quad \frac{\partial^2 u}{\partial t^2} = \frac{\partial^2 u}{\partial w^2} - 2 \frac{\partial^2 u}{\partial w \partial z} + \frac{\partial^2 u}{\partial z^2},$$

$$\begin{aligned}\frac{\partial^3 u}{\partial x^3} &= \frac{\partial^3 u}{\partial w^3} + 3\frac{\partial^3 u}{\partial w^2 \partial z} + 3\frac{\partial^3 u}{\partial w \partial z^2} + \frac{\partial^3 u}{\partial z^3}, \\ \frac{\partial^4 u}{\partial x^4} &= \frac{\partial^4 u}{\partial w^4} + 4\frac{\partial^4 u}{\partial w^3 \partial z} + 6\frac{\partial^4 u}{\partial w^2 \partial z^2} + 4\frac{\partial^4 u}{\partial w \partial z^3} + \frac{\partial^4 u}{\partial z^4}, \\ \frac{\partial^4 u}{\partial t^4} &= \frac{\partial^4 u}{\partial w^4} - 4\frac{\partial^4 u}{\partial w^3 \partial z} + 6\frac{\partial^4 u}{\partial w^2 \partial z^2} - 4\frac{\partial^4 u}{\partial w \partial z^3} + \frac{\partial^4 u}{\partial z^4}\end{aligned}$$

and

$$\frac{\partial^4 u}{\partial t^2 \partial x^2} = \frac{\partial^4 u}{\partial w^4} - 2\frac{\partial^4 u}{\partial w^2 \partial z^2} + \frac{\partial^4 u}{\partial z^4}.$$

Then equation (1) becomes

$$\frac{\partial^4 u}{\partial w^2 \partial z^2} = 0. \quad (3)$$

The successive integrations of equation (3) give us

$$u = w\Phi_1(z) + z\Psi_1(w) + \Phi_2(z) + \Psi_2(w), \quad (4)$$

where Φ_i and Ψ_i , $i = 1, 2$ are arbitrary functions. Now, we return to the original variables t and x , we obtain

$$u(t, x) = (x+t)\Phi_1(x-t) + (x-t)\Psi_1(x+t) + \Phi_2(x-t) + \Psi_2(x+t). \quad (5)$$

Taking into account the initial conditions (2), and from equation (5) we obtain

$$x\Phi_1(x) + x\Psi_1(x) + \Phi_2(x) + \Psi_2(x) = \varphi_0(x), \quad (6)$$

$$\Phi_1(x) - x\Phi_1'(x) - \Psi_1(x) + x\Psi_1'(x) - \Phi_2'(x) + \Psi_2'(x) = \varphi_1(x), \quad (7)$$

$$-2\Phi_1'(x) - 2\Psi_1'(x) + x\Phi_1''(x) + x\Psi_1''(x) + \Phi_2''(x) + \Psi_2''(x) = \varphi_2(x), \quad (8)$$

$$3\Phi_1''(x) - 3\Psi_1''(x) - x\Phi_1'''(x) + x\Psi_1'''(x) - \Phi_2'''(x) + \Psi_2'''(x) = \varphi_3(x), \quad (9)$$

Taking the third, second and first derivatives of equations (6), (7) and (8) with respect to x respectively, we obtain

$$3\Phi_1'''(x) + 3\Psi_1'''(x) + x\Phi_1''''(x) + x\Psi_1''''(x) + \Phi_2''''(x) + \Psi_2''''(x) = \varphi_0''''(x), \quad (10)$$

$$-\Phi_1''(x) - x\Phi_1'''(x) + \Psi_1''(x) + x\Psi_1'''(x) - \Phi_2'''(x) + \Psi_2'''(x) = \varphi_1''(x) \quad (11)$$

$$-\Phi_1'(x) - \Psi_1'(x) + \Phi_2''(x) + \Psi_2''(x) + x\Phi_1'''(x) + x\Psi_1'''(x) = \varphi_2'(x). \quad (12)$$

Now, solving equations (10) and (12) simultaneously for Φ_1'' and Ψ_1'' immediately gives

$$\Phi_1''(x) + \Psi_1''(x) = \frac{1}{4}(\varphi_0''''(x) - \varphi_2'(x)), \quad (13)$$

and equation (9) with equation (11) for Φ_1'' and Ψ_1'' , we obtain

$$\Phi_1''(x) - \Psi_1''(x) = \frac{1}{4}(\varphi_3(x) - \varphi_1''(x)). \quad (14)$$

It follows that $\Phi_1''(x) = \frac{1}{8}(\varphi_0'''(x) - \varphi_2'(x) + \varphi_3(x) - \varphi_1''(x))$ and

$$\Psi_1''(x) = \frac{1}{8}(\varphi_0'''(x) - \varphi_2'(x) - \varphi_3(x) + \varphi_1''(x)).$$

Thus

$$\Phi_1(x) = \frac{1}{8} \left(\varphi_0'(x) - \varphi_1(x) - \int_0^x \varphi_2(x) dx + \int_0^x \int_0^x \varphi_3(x) dx dx \right) \quad (15)$$

and

$$\Psi_1(x) = \frac{1}{8} \left(\varphi_0'(x) + \varphi_1(x) - \int_0^x \varphi_2(x) dx - \int_0^x \int_0^x \varphi_3(x) dx dx \right). \quad (16)$$

Also, from (6), we have

$$\Phi_2(x) + \Psi_2(x) = \varphi_0(x) - x\Phi_1(x) - x\Psi_1(x). \quad (17)$$

and from (7), we have

$$-\Phi_2'(x) + \Psi_2'(x) = \varphi_1(x) - \Phi_1(x) + x\Phi_1'(x) + \Psi_1(x) - x\Psi_1'(x). \quad (18)$$

Taking the first derivative of equation (17) with respect to x , then gives

$$\Phi_2'(x) + \Psi_2'(x) = \varphi_0'(x) - \Phi_1(x) - \Psi_1(x) - x\Phi_1'(x) - x\Psi_1'(x), \quad (19)$$

and solving equations (18) and (19) simultaneously for Φ_2' and Ψ_2' , we obtain

$$\Phi_2' = \frac{1}{2}(\varphi_0'(x) - \varphi_1(x)) - \Psi_1(x) - x\Phi_1'(x),$$

and $\Psi_2' = \frac{1}{2}(\varphi_0'(x) + \varphi_1(x)) - \Phi_1(x) - x\Psi_1'(x)$. Thus

$$\Phi_2(x) = \frac{1}{2}\varphi_0(x) - \frac{1}{2} \int_0^x \varphi_1(x) dx - \int_0^x (\Psi_1(x) + x\Phi_1'(x)) dx + \gamma_1 \quad (20)$$

and

$$\Psi_2(x) = \frac{1}{2}\varphi_0(x) + \frac{1}{2} \int_0^x \varphi_1(x) dx - \int_0^x (\Phi_1(x) + x\Psi_1'(x)) dx + \gamma_2, \quad (21)$$

where $\gamma_i, i = 1, 2$ are constants. Further, we use equations (6), (20) and (21), we obtain $\varphi_0(0) = \Phi_2(0) + \Psi_2(0)$ and consequently $\gamma_1 + \gamma_2 = 0$.

So plugging equations (15), (16), (20) and (21) into equation (5) then gives the solution of (1)-(2) as (5). This completes the proof of Theorem 1. \square

In order to illustrate a possible practical use of Theorem 1, we shall give in the following a simple example.

Example 1. Consider equation (1) with initial conditions

$$\varphi_i(x) = e^x - e^{-x}, \quad i = 0, \dots, 3.$$

Using Theorem 1, and straightforward computation yields

$$\Phi_1(x) = \frac{1}{8} \left(\varphi_0'(x) - \varphi_1(x) - \int_0^x \varphi_2(x) dx + \int_0^x \int_0^x \varphi_3(x) dx dx \right) = \frac{1}{4}(1-x),$$

$$\Psi_1(x) = \frac{1}{8} \left(\varphi_0'(x) + \varphi_1(x) - \int_0^x \varphi_2(x) dx - \int_0^x \int_0^x \varphi_3(x) dx dx \right) = \frac{1}{4}(1+x),$$

$$\begin{aligned} \Phi_2(x) &= \frac{1}{2} \varphi_0(x) - \frac{1}{2} \int_0^x \varphi_1(x) dx - \int_0^x (\Psi_1(x) + x\Phi_1'(x)) dx + \gamma_1 \\ &= -e^{-x} + 1 - \frac{1}{4}x + \gamma_1, \end{aligned}$$

$$\begin{aligned} \Psi_2(x) &= \frac{1}{2} \varphi_0(x) + \frac{1}{2} \int_0^x \varphi_1(x) dx - \int_0^x (\Phi_1(x) + x\Psi_1'(x)) dx + \gamma_2 \\ &= e^x - 1 - \frac{1}{4}x + \gamma_2. \end{aligned}$$

Then, the solution of this problem is expressed as

$$u(t, x) = (x+t)\Phi_1(x-t) + (x-t)\Psi_1(x+t) + \Phi_2(x-t) + \Psi_2(x+t).$$

Thus $u(t, x) = e^{x+t} - e^{t-x}$, which is the exact solution of this initial value problem.

3. The Goursat's problem for hyperbolic equation of fourth order

The Goursat's problem concerns a class of hyperbolic partial differential in two independent variables with given values on two characteristics curves. For example, for the hyperbolic equation

$$u_{tt} - \frac{1}{c^2} u_{xx} = h(t, x).$$

Goursat's problem is posed as follows:

$$\begin{cases} u_{tt} - \frac{1}{c^2} u_{xx} = h(t, x) \\ u(t, x) = f(x) \text{ for } x = ct, \\ u(t, x) = g(x) \text{ for } x = -ct, \end{cases}$$

In a manner parallel to the Goursat's problem, we study a linear hyperbolic equation of fourth-order with multiple characteristics curves. The Goursat's problem for this equation is formulated as follows:

$$\left(\frac{\partial^2}{\partial t^2} - \frac{\partial^2}{\partial x^2} \right)^2 u = f(t, x). \quad (22)$$

To equation (22), we attach the following conditions

$$u(t, x) = \varphi_0(x) \text{ for } x - t = 0, \quad (23)$$

$$\frac{\partial u}{\partial t} - \frac{\partial u}{\partial x} = \varphi_1(x) \text{ for } x - t = 0, \quad (24)$$

$$u(t, x) = \varphi_2(x) \text{ for } x + t = 0, \quad (25)$$

and

$$\frac{\partial u}{\partial t} + \frac{\partial u}{\partial x} = \varphi_3(x) \text{ for } x + t = 0. \quad (26)$$

We mention that the attached conditions are given on the multiple characteristics curves $x - t = 0$ and $x + t = 0$ of equation (22). We have

Theorem 2. *The solution of problem (22)-(26) can be expressed in the form*

$$\begin{aligned} u(x, t) = & \varphi_0\left(\frac{x+t}{2}\right) + \varphi_2\left(\frac{x-t}{2}\right) - u(0, 0) \\ & - \frac{x-t}{2}\varphi_1\left(\frac{x+t}{2}\right) + \frac{x+t}{2}\varphi_3\left(\frac{x-t}{2}\right) + \frac{x-t}{2}\varphi_1(0) \\ & - \frac{x+t}{2}\varphi_3(0) + \frac{(x+t)(x-t)}{4}\varphi_1'(0) \\ & + \frac{1}{16} \int_0^{x+t} dr \int_0^{x-t} ds \int_0^{x+t} dr \int_0^{x-t} f(r, s) ds. \end{aligned}$$

Proof. Let u be a solution of equation (22), make the transformations $z = x - t$, $w = x + t$, and applying the chain rule to obtain

$$\frac{\partial^4 u}{\partial w^2 \partial z^2} = \frac{1}{16} f\left(\frac{w-z}{2}, \frac{w+z}{2}\right), \quad (27)$$

and the given conditions (23)-(26) can be converted into

$$u(w, 0) = \varphi_0\left(\frac{w}{2}\right), \quad (28)$$

$$\frac{\partial u}{\partial z}(w, 0) = -\frac{1}{2}\varphi_1\left(\frac{w}{2}\right), \quad (29)$$

$$u(0, z) = \varphi_2\left(\frac{z}{2}\right), \quad (30)$$

$$\frac{\partial u}{\partial w}(0, z) = \frac{1}{2}\varphi_3\left(\frac{z}{2}\right). \quad (31)$$

Then, the boundary value problem (22)-(26) is now (27)-(31). The successive integrations of equation (27) give

$$\begin{aligned} u(w, z) = & u(w, 0) + u(0, z) - u(0, 0) \\ & + z \frac{\partial u}{\partial z}(w, 0) + w \frac{\partial u}{\partial w}(0, z) - z \frac{\partial u}{\partial z}(0, 0) - w \frac{\partial u}{\partial w}(0, 0) \\ & - wz \frac{\partial^2 u}{\partial w \partial z}(0, 0) + \frac{1}{16} \int_0^w \int_0^z \int_0^w \int_0^z f\left(\frac{w-z}{2}, \frac{w+z}{2}\right) dw dz dw dz, \end{aligned}$$

where $u(0, 0) = \varphi_0(0) = \varphi_2(0)$, $\frac{\partial^2 u}{\partial w \partial z}(0, 0) = -\frac{1}{4}\varphi_1'(0)$, $\frac{\partial u}{\partial z}(0, 0) = -\frac{1}{2}\varphi_1(0)$ and $\frac{\partial u}{\partial w}(0, 0) = \frac{1}{2}\varphi_3(0)$. We return to the original variables t and x , we obtain

$$\begin{aligned}
u(x, t) = & \varphi_0\left(\frac{x+t}{2}\right) + \varphi_2\left(\frac{x-t}{2}\right) - u(0, 0) \\
& - \frac{x-t}{2}\varphi_1\left(\frac{x+t}{2}\right) + \frac{x+t}{2}\varphi_3\left(\frac{x-t}{2}\right) + \frac{x-t}{2}\varphi_1(0) \\
& - \frac{x+t}{2}\varphi_3(0) + \frac{(x+t)(x-t)}{4}\varphi_1'(0) \\
& + \frac{1}{16} \int_0^{x+t} dr \int_0^{x-t} ds \int_0^{x+t} dr \int_0^{x-t} f(r, s) ds.
\end{aligned}$$

This completes the proof. \square

Example 2. Consider Goursat's problem (22)-(26) with

$$u(t, x) = \varphi_0(x) = x^4 \text{ for } x - t = 0,$$

$$\frac{\partial u}{\partial t} - \frac{\partial u}{\partial x} = \varphi_1(x) = x^2 \text{ for } x - t = 0,$$

$$u(t, x) = \varphi_2(x) = \frac{1}{4}x^2 \text{ for } x + t = 0,$$

$$\frac{\partial u}{\partial t} + \frac{\partial u}{\partial x} = \varphi_3(x) = 0 \text{ for } x + t = 0$$

and $f(t, x) = 0$. Then, from Theorem 2, and direct calculation produces the exact solution

$$u(t, x) = \frac{1}{16} [(x+t)^2 - (x-t)]^2.$$

Example 3. Consider Goursat's problem (22)-(26) with

$$\varphi_i(x) = 0 \text{ for } x - t = 0, \quad i = 0, 1,$$

$$\varphi_i(x) = 0 \text{ for } x + t = 0, \quad i = 2, 3$$

and $f(t, x) = 64$. Then, from Theorem 2, and direct calculation produces the exact solution $u(t, x) = (x+t)^2(x-t)^2$.

Example 4. Finally, Consider Goursat's problem (22)-(26) with

$$\varphi_0(x) = 2 \cos 2x \text{ for } x - t = 0, \quad \varphi_1(x) = 0 \text{ for } x - t = 0,$$

$$\varphi_2(x) = 2 \cos 2x \text{ for } x + t = 0, \quad \varphi_3(x) = 0 \text{ for } x + t = 0$$

and $f(t, x) = 16(\cos 2t + \cos 2x)$. Then, by Theorem 2, we obtain $u(t, x) = 2 \cos(x+t) + 2 \cos(x-t) - 2 + [\cos 2t + \cos 2x - 2 \cos(x+t) - 2 \cos(x-t) + 2]$ so that

$$u(t, x) = \cos 2t + \cos 2x,$$

which is the exact solution to this problem.

REFERENCES

1. A. Lax, *On Cauchy's problem for partial differential equations with multiple characteristics*, Comm. Pure Appl. Math. **9**(1956), 135-169.
2. B. Midodashvili, *A nonlocal problem for fourth order hyperbolic equations with multiple characteristics*, Electron. J. Diff. Eqns. **85**(2002), 1-7.
3. F. Colombini and T. Kinoshita, *On the weakly hyperbolic equation of 4th order*, Hokkaido Math. J. **31**(2002), 39-60.
4. H. O. Kreiss, *Initial boundary value problems for hyperbolic systems*, Commun Pure and Appl. Math. **23**(1970), 277-298.
5. L. Bougoffa, *The Cauchy problem for nonlinear Hyperbolic equations of higher order using Modified decomposition method*, J. Math. Cont. Sc. and Appl. **1**(2007), 11-19.
6. M. D. Bronštein, *The Cauchy problem for hyperbolic operators with characteristics of variable multiplicity*, Trudy Moskov. Mat. Obsc. **41**(1980), 87-103.
7. M. S. Agranovich, *Boundary value problems for systems with a parameter*, Matem. Sbornik, **84**(1971), No. 1, 27-65(Russian; Engl.transl. in Math. USSR Sbornik **13**(1971), 27-65.
8. R. Beals, *Hyperbolic equations and systems with multiple characteristics*, Arch. Rational Mech. Anal. **48**(1972), 123-152..
9. S. Agmon, *Problème mixte pour les équations hyperboliques d'ordre supérieur*, Colloq. Intern. CNRS, Paris (1962), 1-6.
10. Y. Ohya and S. Tarama, *Le problème de Cauchy a caractéristiques multiples coefficients hölderiens en t*, Proc. Taniguchi International Symposium on Hyperbolic Equations and Related Topics (1984), 273-306.

Lazhar Bougoffa is working as associate professor of applied mathematics at department of mathematics, Al-Imam University, Kingdom Of Saudi Arabia. Member in scientific organization of GAMM, Germany (1995-1999) and member of research group in mathematical inequalities and applications. His research interests focus on differential equations and inequalities.

Department of Mathematics, Faculty of Science, Al-Imam University, P.O.Box 90950, Riyadh 11623, Kingdom Of Saudi Arabia.

e-mail: bougoffa@hotmail.com